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4.53875 + 1.25+31.75 x 3.2 equal to
(a) 105.13 (b) 205.23

{c) 115.23 (d) 105.23
.39%39+4.17%x.17

(39+.17)24(39-17)? 9qua' to

(a) 1 (b)o
()% (d) None of these
L}-lnf}-
), 24—t eualto
- 3t
{a)1/2 (b)1/4
(€)1 (d)3/2
4, 1f 3x% = 81, the value of x is
(a)1 (b) 2
(c)3 (d) 4

5. ifa= 1%,b = ‘l-lz—zthe value of Va—Dbis

{a) 7/20 (b)7/21
{c)8/19 (d) 6/17

6. If A:B=3:4 and B:C=8:9 then A:B:Cis ?
(a) 3:4:9 (b) 3:8:9
(c) 6:8:9 (d) 6:4:9

7. How many kilograms of salt at 42 paice per kg must 3
man mix with 25 kg salt of 24 paise per kg so that he
may on selling the mixture at 40 paise per kg gain

25% on the outlay?
(a) 16 kg (b) 20 ka
{c)35ke (d) 43 kg

8 A man loses 20% of his money and after spending
20% of the remainder he is left with Rs.270. Originally
he had
(a) Rs. 1125 (b) Rs .1225
(c) Rs.1325 (d) Rs.1500

9. The difference between 8 times a number and 3
times the number is 165. The number is
(a) 32 (b) 33
(c)34 = (d) 38 wesenomnina .

10. In a two digit number, the digit in 'Ur'm;S place is 6. If
18 be added to the number, the digits change place.

The number is
{a) 26
(c) 49
11. Fatheris twice as
ago, father was twen %
age of the son'!
?;)e;in:ea%s (b) 26 years

(d) 28 years
3 (Cs)ozn-',syaega:is 1/ of the 38 of father. Two years hence

father's age would pe 7/2 of son's age. The  age of

the father is
" %0R PUBLICATION

(b) 45

(d) 53 ;1
old as his son but twenty five years
ty seven times as old his son. The

(b) 41 yEar>
ars (d) 43 years :
13‘(?&2,‘:& saves Rs.2 in january 1.25.6. in February, Rs.g
in March and soon. The total saving in one year is
(a) R.s.32320 (b) Rs.83490
(c) Rs.531440 (d) Rs.642240
(4. The sum of all numbers between 800 and 1100, whicy

are divisible by 79 is
(a) 2864 (b) 2844
(c) 3844 (d) 3854

15. 10 litres of mixture contains 13% wa.ter. How much
water must be added to get 20% water in the resulting
(3) 10% (b) 15%

(b)20% (d) None of the above

16. After adding water a milkman gains 25%. How much
water per litre is he mixing, if he professes to sell on
the cost price?
(a) % litre (C) 1/3 litre
(b) 2/5 litre (d) 3 /7 litre

17. If the sum of two numbers is72 and their H.C.F is 12,
then the numbers are
(a) 24,48 (b) 12,60
(c) 36,36 (d) 32,40

(8. The equivalent discount of three successive discounts
of 10%, 20% and 25% is
(a) 41% (b) 42%

(c) 46% (d) 55%

19. A man bought 25 chairs for Rs.2500 and sold them. at
a profit equal to the cost price of one chair. His selling
price of the chair is ‘

(a) Rs.104 (b) Rs.100
(¢} Rs.96 {d) Rs.108

20. A man purchased a house for Rs.4000. He sold it the
same day for Rs.4840, allowing the buyer 2 years
credit an there by gained 10%. The rate of interestis

(a) 21 years

(a) 6% () 7%
(b) 5% (d) 8%

21. 21. Mr. A. Puts in Rs. 600 more in a business than M.
B, but Mr. B has invested his capital for 5 months
while Mr. A has invested his capital for 4 months. I
the share of Mr, A is Rs.48 more than that of B out of
the total profit of Rs.528, A's investment is
(a) Rs.1800 (b) Rs.1200

N (c) Rs.1500 (d) Rs.1700

A cistern can be filled by two pipes A and B in 10 and
* 15 hours respectively and is then emptied by a tof ’
8 hours, If all the taps are opened, the cistern will
fill in '
(a) 21 hours
{c) 23 hours

(b) 22 hours
(d)24 hours
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23,

24,

25,

27

28.

- A'and B together can do 3

Number of tree are planted on the side. of the road at
a distance of 30 metres. How many trees a man

driving a car at 45 km/hr Passes, if he derives for 45
minutes?

(a) 1126 (b) 1125
(c) 1124 (d) 1127
A parallelogram has two adjacent sides 130 m and
140 m. Distance between the longer side is 150

metres long. The cost of gravelling it at the rate of 10
paise per square metre is

(a) Rs.2000 (b). Rs.2100
(c) Rs.2200 (d) Rs.2300

The number of marble slabs of size. 20 ¢m x30 cm

required to pave the'floor of a squre room of side 3m,
is

(a) 100

(b) 225
(c) 150

(d) 25
piece of work in 6 days. A

alone candoitin 9 days. In how many days can B do

it alone?
() 8 days (b) 18 days
(c) 10 days (d) 6 days
An article lists at Rs.750, with discounts of 20 per
cent, 25 per cent and 10 per cent. What is the selling
price of this article?
(a) Rs.510 (b) Rs.400
(c) Rs.405 (d) Rs.505
Divide Rs.2440 among A,B,C and D so that B's share is
5/9 of A's, C's is 7/10 of B's, and D has one-third as
much as B and C together. What is the share of each?
(a) A's share is Rs.1180
B's share is Rs.1080
C's share is Rs.480
D’s share is Rs.380
(b) A's share is Rs.1080
B's share is Rs.600
C's share is Rs.420 L -
D’s share is Rs.340 .
(c) A'sshare is Rs.1080
B's share is Rs.600
C's share is Rs.420
D’s share is Rs.300
(d) A'sshare is Rs.1080
B's share is Rs.800
C's share is Rs.480
D’s share is Rs.340

. A factory employing 270 men assembles a given

number of computers weekly, the number of working
hours being 44 per week. How Many men would be
required for the same production if the working hours
were reduced to 40 per week.

(a) 287 men (b) 297 men

SPR PUBLICATION

30.

31,

3.

3s.

36.

37.

38.

40.

(c) 290 men (d) 300 men

The average weight of students in a class of 35 is 50
kg. If however, the weight of the teacher be included,
the average will be increased by 500 g. Find the
weight of the teacher.

(a) 68 kg (b) 70 kg

(c) 72 kg (d) 58 kg

A man loses 12 1/2 percent of his money and after
spending 70 percent of tMe remainder he still has
Rs.210 left. How much did he have at first

(a) Rs.900 (b) Rs.750

(c) Rs.850 (d) Rs.800

- 34 meters of rope is required to make 100 loops. How

many meters of rope would be required for 912 such
loops?

(a) 490 meters (approx.)  (b) 410. meters (approx.)
(c) 310 meters (approx.)  (d) 320 meters (approx.)
Rupees 800 amounts to Rupees 920 in 3 years at
simple interest. If the interest rate is increased by 3
percent, it would amount to how much?

(a) Rs.992 (b) Rs.1056

(c)Rs.1112 (d) Rs.1182

. If the cost price of 50 articles is equal to the selling

price of 40 articles, find the loss per cent or profit per
cent?

(a) 20% profit (b) 25% loss

(c) 20% loss (d) 25% Profit

The difference between the circumference and the
radius of a circle is 37 cm. The area of the ,Circle is

(a) 111 cm? (b) 154 cm?

(c) 148 cm? (d) 259 cm?

Four horses are tethered at four corners of a square
plot of side 63 meters so that they just cannot reach
one another. The area left un grazed is
(a) 675 m? (b) 785:8 m?
(c) 780.6 m’ (d) 850.5 m?
Hira Lal invested Rs. 500 for 4 years and Rs.600 for 3
years at simple interest. If the total interest on both is
Rs.190. what is the rate of interest percent per
annum?

(a) 10% (b) 7%

(c) 2% (d) 5%

A pole is 90 m long. It is painted in white, black and
blue colours in the ratio of 5:6:7. What is

the length
of the white part of the pole?
(3)30m (b) 20 m
(c)15m (d)25m
. Planning commission has been re-named as
(a) Niti Dhar (b) Niti Ayog
(c) Niyay Ayog (d) None of the above

Name of Chairman University Gran

t Commission is
(a) Prof. Yogesh Pal (b) Prof. prab

hu Prasad
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(v} Prof. Suresh Mishra (d) prof. ved prakash
41 Aand B can do a piece of work in 72 days; B and Ccan
do it in 120 days, A and € can do it in B0 days. In what
time can A atone do it?
(a) 150 days {b) 100 days
(€) 120 days {d) 80 days
42 Ram kumar saves Ry 200 at the end of each year and
fends this savings at S percent compound interest.
How much will it be worth at the end of 3 years?
(a) Rs 662.03 {b) Rs.664.80
{c) Re.640.00 (d) Rs.850.70
43 The perimeter of a rectangular field 1s 480 meters
and the ratio between the length and breadth is 5:3.
The area of the field is
{a) 7200 m’ (b) 13500 m*
{¢) 15000 m* (d) 54000 m*
44 A garden is 70 in long and 30 in wide. It is surrounded
by a footpath Sm wide outside. What is the area of

the path?
(a) 2200 m* (b) 550 m?
{©) 1100 m’ (d) 625 m’

45 A is twice as fast as B and B is thrice as fast as C is.
The journey covered by C in 54 minutes will be
covered by B in
(3) 18 min. (b) 38 min
{c) 27 min. {d) 9 min

46. If the diameter of a cylinder is 28 cm and its height is
20 cm, then total surface area is
(a) 2993 ecm* (b) 2292 cm?

{c) 2992 cm’ (d) 2229 cm?
47. If the diagonal of a square be 6 inches, what in square
inches will be the area of the square?
(a)s (b) 18
(c) 12 (d) 36
48. Two cubes have the irlunes in the ratio 8:27, the ratio
of their surface areas is
(a) 2:3 (b) 4:9
(c) 3:2 (d) 64:729
49. If the outside diameter D=12 cm and the inside
diameter d=8 c¢m of a ring, find the area of the ring

(a) 62.83 cm? (b) 64.83 cm?

{c) 60.08 cm?’ (d) 63.83 cm?.
50. 61341 — 3 x3132+3751 equals to

(a) 65696 (b) 56696

{c) 55696 (d) 45696

S1. Which number replaces the question mark?

S D

{2)4 .
(17 :d; ig
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52. Select-the diagram out of the fqur given diagrams
that best represent the relatignsh«p among the Riven

words.[books, novels, pen]
©

“ 00
@ @

O
© 0 @

53. The door of my house is towards the East direction, |
walk from my back door 100m, then turn right ang
walk 100m and then, again turn left' and walk 50 m
and reach a point X. in which direction am | from the
starting point.

(a) North-West (b) West
(¢) North (d) South

54. Mahesh starts walking towards West. After walking
10m, he turns towards North. Again, after walking 20
m, he turns towards East and walks 10 m. How far is
he from his original position and in which direction?
(a) 20 m, North (b) 10 m, North
(c) 10 m, South (d) 20 m, South

55. At what angle, the hands of a clock are inclined at 15
min past 5 ?

10 10
(a) 72; (b) 67

CE (d) 64

56. How many times do the hands of a clock point
towards each other in a day?

(b)

(a) 24 (b) 20
(c) 12 (d) 22

57. Facebook has purchased WhatsApp in
(a) $19 billion (b) $19 million

(c) $22 billion (d) $22 million

58. What was the day of the week on 2nd July 1984?
(a) Wednesday (b) Tuesday
(c) Monday (d) Thursday
59. Choose among the following which one does not
belong to the group?
:a))g:26 (b) 11: 46
€)9:40 - 1d) 16: 66
60.

In thg question below, three out of four alternatives
contain letters/numbers of the alphabet placed in 3

particular form. Find the odg ?
partien one out?

(b) H20L
(C) N316 d
61. A,C,F,H,?,M i) E20¥
(a) ! . b
(c)K Ed;i
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62. Study the codes given below and based on the same.
code solve the question that follows. If 44x44=4444
and 34x52=5423, then 81x46=?

(a) 1648 (b) 8164
(c) 8461 (d) 4168
63. Shoe : Leather ::Highway: ?

(a) Passage (b) Road
(c) Asphalt (d) Trail
64. Clay is to pottery, is gold is to
(a) Women (b) Goldsmith
(c) Ornaments (d) Metal
65. Water : Ice ::Steam:.?
(a) Heat (b) Water
{c) Boil (d) Fire

66. School: ? :: Hospital : Patients
(a) Teachers

(b) Classrooms
(c) Students

(d) Buildings
67. Complete the series
Z,X,U,QL,?
(a) F (b) m
()N (d)o

68. The word CIRCULATED is coded as ektwncx. Based on

this make a code for HATED/HATEDLY
(a) icufemz (b) jevgfna
(c) jexna (d) icuxmg
69. The word CIRCULATED is coded as ektwncx. Based on
this code, make a code for LAND
(a) mboet {b) ncpeu
(c) ncpxu (d) ncpfu
70. The word CIRCULATED is coded as ektwncx. Based on
the above code, make a code for CIRCULATED
(a) dbmvmbufe (b} ecnwncx
(c) ecnwncvgf (d) ecnwocx
71. Study the codes given below and solve the question

that follows

If 35x604=43056 and 27x698=82976, then 32x864=?
(a) 43682 (b) 82643

(c) 43628 (d) 82634

72. Study the codes given below and solve the question

that follow If 32x5=253 and 14x65=4516, then
14x20=?

(a) 4201 (b) 4012

(c) 1204 (d) 4102

Directions (Q.73-77): Study the following figure and
answer the questions given below

73. How many doctors are neither artists nor players?
(a)17 (b) 5

SPR PUBLICATION

(c) 10 (d) 30

74. How many doctors are both players and artists?
(a) 22 (b) 8
(b)3 (d) 30

75. How many artists are players?
(a)5 (b) 8
(c) 25 (d) 16

76. How many players are neither artist nor doctor?
(a) 25 (b) 17
()5 (d) 10

77. How many artists are neither player ile7 doctor?
(a) 10 (b) 17
(c) 30 (d) 15

Directions (Q.78-80): Give answer
78. Statement: Should new big industries be started in
Mumbai? Arguments :
I. Yes, it will create job opportunities
Il. No, it will further add to the pollution of the city
(a) only argument | is strong
(b) only argument Il is strong
(c) either | or Il is strong
(d) neither | or Il is strong
79. Statement: Should there be reservation of seats and
posts on communal basis Arguments:
i. Yes, It will check most of the inter communal
biases
ii. No, ours is a secular state
(a) only argument | is strong
(b) only argument Il is strong
(c) either | or Il is strong
(d) neither | or Il is strong
80. Statement: Should internal assessment in college's be
abolished? Arguments:
i. Yes, this will help in
favouritism
ii. No, teaching faculty will lose control over students
(a) If only argument | is strong
(b) If only argument Il is strong
(c) If either | or Il is strong
(d) if neither | or Il is strong
81. A toy cube is painted orange on all sides. It is cut into
64 smaller cubes of equal size. How many smaller
cubes are not painted at all?
(a) 4 (b)8
(c) 16 (d) 20
82. A six centimeter cube is painted green on all sides. it
is cut into two centimeter cubes. How many cubes
will be there with two sides painted?
(a) 12 (b)8
(c) 24 {d) 4
83. The diagonals of a paralleogram are perpendicular.
This figure is a?

reducing possibility-of
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(a) quiaililatuial (b5) Viagin adiain
(€) hexagon (eh) rhreiting
BA A party donsiete of grandimiother, fathee, ot b, T
RONE and thelf wives and ong son and two daughters
Lo sach of the sons How Many females sre Hhisre 16
all
(a) 14 (h) 16
(¢) 1n () 44
RECA AR means A s the son ol 8, A - § means A I8 the
wife of i, Asbh means A is the biother of B A+H
means A s the mother of B and A<B means A 15 the
sister of B
What does FeiO mean?
(4) 016 the father of p (h) 0 is the son of ¥
(€) 015 the uncle of (d) O 15 the brother of P
Directions (QR6-90): A, B, C, O, F and I are cousing, No
two cousing are of the same age, but all have birthdays on
the same date The youngest is 17 years old and the
oldest L is 22 F it somewhere between B and D in age, A
it older than B, € is older than 1, -
B6. Which of the following 1& not possible?
(a) D is 20 years old (b) Fis 18 years old
(€) F i 19 yoars old (d) Fig 20 years old
87 Which of the following could be the ages of () and C,
respactively, if 1316 17 years old?
(a) 18 and 19 (b) 19 and 21
(€) 18 and 20 (d) 18 and 21
88. Which of the following must be true if exactly two of
the cousins are between C and F in age?
(a) Als between Fand D in age
(b) Bis 17 years old
(c) Bisyounger than D
(d) Fis 18 years old
89, If A Is one year older than C, the number of logically
possible orderings of all six cousins by increasing ape

is
(a) 2 (b) 3
(c)a (d)5

90. Which of the following must be true if C is 19 years
old?
(a) Ais 19 years old andDis 21
(b) B is 19 years old and Ais 20
(¢)Bis 20 years old and A is
(d) D is 17 years old and Bis 21

91. A rat runs 20 towards East and turns to right, runs 10
and turns to right runs 9 and again turn to left runs 5
‘and then turns left runs 12 and finally turn to left and
runs 6, which direction is the rat

tacing?

(a) East (b) West

(c) North (d) South
$PR PUBLICATION

——y

9 kB atd i are plaping cartdy foand B oae ati e,
1) faraes Litint 8% Hiegrthy A fo bnews SOHBOGS Hag thres
wihiio Vs aes " At
fa) 88
eyt

G How many pans of letter are 1hers in the gy,
WICKET wihich Tiavk 3% 1147 16ty It yeern tig.,
in the word as in the alghatet?

(a) One )t wo

(¢) Three (d) Fopsr
G4, Which 15 the third purmer 16 10k beft of the muirries
el i eractly in the mddle of the 1oy g

(bt
() Lata inalseiinie

wh
LEIEN e of nmnoers?

1 1.4,4’;‘;/8’!740397')31’1'/.76’;4:'/?
(a) % h)4
{c) % (4) 6

9%, Inthe senes
64 177874215386217141%2724
How many pairs of slternative NUMErs naee 5
difference of 27
(a) One () Two
{c) Three (d) four
96, Sanjeey ranks seventn fromm the top 204 tuerty egee
from the bottom in a dass. How many ucents ze
there in the class?

(@) 27 (b) 26
(c) 35 (d) 24
G7. The table ges projected gvalability and cemant for
Steel
____Ino0Otonnes
[ 1994-1995 | 1999-2000 |

[ Category | Demand | Availabity | Demand | avelatiny |

Shapes | 6,960 | 5,725 9,745 19360 |
[Flats 14360 5020 6300 |6500 |
| Patway 400 ' £50 ] 450 ‘ 60 |
Material | | |

D S

In 1994-1995, appmximateiy,. winat percentzge of 1%
total demand for steel, is the demand for flats?

(a) 27.2 approx. (B} 35.0 approx.

(c) 25.4 approx. (d) 27.2 2pprox

2000 National Budget expenditure is given in the D%
chart, (percentage distribution)

g
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g8. India in 2000, had a total expenditure of Rs.120 billion
rupees, approximately how many billions did it spend
on interest on debt?
(a) Rs.12.4 billion (b) Rs. 8.4 billion
(c) Rs.9.3 billion (d) Rs. 10.8 billion

99. 2000 National Budget expenditure is given in the pie
chart. (percentage distribution)

Otscrs \
17% 9%

T

% | %

litary

Tmerest on debt
Intemational

If a billion rupee were spend in 2000 for veterans, what

would have been the total expenditure for that year in

billions? .

(a) 100 billion rupees  (b) 180 billion rupees

(c), 120 billion rupees  (d) 150 billion rupees

100. The table gives projected availability and demand for
Steel

(in 000 tonnes )
1 1994-1995 1999-2000 ]
Category | Demand Avallability | Demand Availability |
Shapes 6,960 5,725 9,745 9,360 |
. Flats 4,360 5,020 6,300 6.600
Railway | 400 550 450 560
| Material |

If demand for each-category of steel is to be met in 1999-
2000, the additional quantity of steel is to be produced is
(a) 110 thousand tonnes Of Railway

(b) 300 thousand tonnes of flats

(c) 385 thousand tonnes of shapes

(d) 120 thousand tonnes of shapes

101. There are 50 students admitted to a nursery class.
some students can speak only English and some can
speak only Hindi. Ten students can speak both English
& Hindi. If the number of students who can speak
English is 21, then how many student can speak Hindi,
How many can speak only Hindi ' and How, many can
speak only English?

(a) 39, 29 and 11, respectively
(b) 37,27 and 13, respectively
(c) 28, 18 and 22, respectively
(d) 21, 11 and 29, respectively

102. A survey on a sample of 25 new cars being sold at a
local auto dealer was conducted to see which of the
three popular options- air conditioning, radio and

power windows — were already installed. The survey
found that: 15 had air conditioning; 2 had air
conditioning and power windows but no radios, 12

SPR PUBLICATION

had radios, 6 had air conditioning and -radios but lid
power windows. 11 had power windows 4 had radios
and power windows. Three had ‘all three. options,
What is the number of cars that had none of the
options
(a)4 B3 (1 (d) 2

103. What is the chance of throwing a number greater
than 4 with an ordinary dice whose faces are
numbered from 1 to 6?

@23 (0)2/5 (@13 .Ad7A

104. In a town 65% people watched the news on
television, 40% read a newspaper and 25% read a
newspaper and watched the television also. What per
cent of the people neither watched the news on
television nor read a newspaper?
(a)s (b)19 . (c)15 (d) 20

105. A class of 30 students comprises boys who can play
cricket, hockey and football. 3 boys play only cricket,
3 boys play only hockey and 2 play only f0°tb3": 4
boys could play all the threes games, while 11 could
play football and cricket and 10 boys could play
football and hockey. How many boys played cricket
and hockey and not football? .
(a) 2 (b)d4 ()1 (d)S

106. A firm has 40 workers working in a factory. 30
working in its office and 20 working in the both the
factory and the office. How many workers are there
in the firm?_
{a) 20 (b)30 (c)40 {(d) 50

107. In a survey of 100 students it was found that 50 used
the college library, 40 had their own library, and 30
borrowed books of these, 20 used both the college
library and their own 15 used their own library and
borrowed books and 10 used the college library and
borrowed books. How many students used all the
three sources of hooks?
(a) 30 (b) 28 (c) 20 (d) 25

Direction (Q.108): Data 450 candidates who took an

examination in social sciences, mathematics & science is

given below:

Passed in all the subjects 167
Failed in all the subjects 60
Failed in Social Science 175
Failed in Mathematics 199
Failed in Science 191
Passed in Social Science only 62
Passed in Mathematics only 48
Passed in Science only 52

108. Find How many failed in Social science only?
(a) 15 (b) 21
{c) 30 (d) 42

MBA
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104 One card is drawn from a pack of %2 cards, each of
the 52 cards being equally likely to be drawn. Find the
probability that the card drawn is red and a king ?

(a) 1/11 (b) 7/13
() 1/26 (d) 1/2

110 Tickets numbered from 1 to 20 are mixed up
together and then a ticket Is drawn at random. What
i§ the probabllity that the ticket has a number which
Is a multiple of 3or 77

(a) 2/% (b) 3/7
(c) 8/7 (d) 1/5
111 Use the correct article in, she has influenza
(a) an {b)a
(c) the (d) no article needed

112, Michael Jackson's life is the correct order of
ad, sctives is)
(a) 15 nous short young American life
(b) short famous young American
(¢) Young short American famous .
(d) Young short famous American
113. Add fuel to fire-What does this statement means?
(a) to fight With someone
(b) to make a bad situation worse
(¢) to spread rumor
(d) to deceive somebody
114. Which word does not belong with the other's
(a) Adverb (b) Pronoun
(c) Punctuation (d) Preposition
115. The antonym of hostile is
(a) Friendly (b) Darkness
(c) Usefulness (d) Peaceful
116. What does the word erratic means?
(a) irritating (b) to remove something
(c) changing often (d) impossible
117. Give one word for the expression: Building where
money is kept or the sides of a river?
(a) Locker (b) Beach
(c) Bank (d) Cornish
118. Give one word for the expression:

the outside of a tree?

A dog sound or

(a) Music (b) Roar
(c) Bark (d) Branch

119. Choose the correct alternative as in Necessity
Invention

(a) Curiosity . knowledge
{b) Nation : Citizen
(c) Price : Commodity
{d) Language : Conversation
120. What does the following proverb mean: To make 2
mountain of a mole?
{a) To take undue advantage
{b) To gve great importance to-trivial things

SPR PUBLICATION

(¢)To see things with prejudiced mind

(d) To get into trouble
121, Choose the correct relationship as in

DREAM | REALITY
(a) Silent : Quiet  (b) Alert : Aware
(¢) Siek : Healthy  (d) Pious : Moral
122. 'samiha dislikes washing plates, '‘Washing' Is & «-...
. verb In this expression
(a) finite (b) non-finite
(c) gerund (d) infinitive
123.0pen your book at page seven (change volce)
(a) You open your book at page seven
(b) Your book can be opened at page seven
(c) Your book may be opened at page
(d) Let your book be opened at page seven
124. Put the verb into the simple tense 'The function (be)
at 2 O'Clock
(@) is (b) will be
(c) is going to be held (d) being
125. Mark the .wrong sentence
(a) The sun rises in the east
(b) He came here an year ago
(c) Elephants are large animals
(d) Gold is a metal

126, This is =-====-=- boy Who won first prize
(a) a, the (b)a, a
(c) the, a (d) the, the

127. Fill the correct article in--- 'This is ------ BBC
programme, it is interesting one.
(a) the, the (b)a, a
(c)an, an (d) a,an

128: Choose the correct order of adjectives for-------- ‘She
owns ---=-=--

(a) a white car (b) a white small car
(c) a small white car (d) a small car
129.Choose the incorrect spelling -
(a) Relinquish (b) luminant
(c) Consicious (d) Dependency
130. Find out the correct spelling?
(a) Amend (b) Commend
(c) Assend (d) Descend
131. "Out sourced” means
(a) Out of stock resources
(b) exported resources
(c) resources not owned by that firm
(d) resources crunch
132. A person who can speak several languages |
as?
(a) Linguist (b) Literary
(c) Polygot (d)Bilingual
133. Which word does not belong with other’s
(a) Porch (b) Kitchen

5 know-
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{d) Balcony
Qe ’h e is the correct spelling
y {c) Fartreheir

F‘_‘ }tha“"‘e‘t
* ;,nrenhe't (d} Fehrenheight
w of mishan is
% ?e pisaster {b) Adventure
® catie (d) Angry
: .;i;e antonym of courageous is?
.' f")w \b} Scared
 astron (d) Healthy

L ¢ is the spelling of the word what means
s 5.1’6‘"3 packwards and forwards™

@ Dssilate {b) Oscellate
ic) Oscilate (d) Oscillate
.« what does the following proverb means: A wild
chase?
(3] wise decision {b) useless search
ic) timely action {d) delayed action

<33 Many of his acquaintances avoid him because he is
s garrulous. What does the italicized word mean?
(a) Unreasonable (b) Talkative
{c) Quarreisome {d) Proud
+40. Which is the correct passive form of the fallowing
sentence
sentence The mason is building the.wall.
{2) The wal! is built by the mason
{b) The wall is being built by the mason
{c) The wall was being built the mason
{d)The wall was built by the mason )
‘41, Select the pair words, related. in the same way 2s in
the example below: Example: soldier : Battalicn
{a) Sun . Micon (b} Star : Galaxy
{c) Water - Bottie (0] Sky - Earth
142, You know better than to in other people’s business.

fa) medal (b) meddie

{c) metal (@) - mettie
143 Which is the correct spelling? .

{3) Sucumb (b) SuccumDd

{¢} Sucuumb {d) Suucembd
144_The antonym of "extrevagant’ is

(3) spendthrift (b) economica!

i} pompous (d) caretaker

5. They objected to My proposa! {change the voice)

{a) My proposal objected them

{8 my proposal was objected DY them

it} My proposal was objected to them
. {d} Thewr proposal was objected by Me
146. There s 2 fittie hope of his recovery. Wnat does the

3bove sentence mean’

{2} He is not Hiely te recover

(b} economical

{5} e wiii not recover

{b) He may possibly recover
{d) He will definitely recover
147. A man of straw
{a) a man of no substance
(b) a very active person
{c) a worthy fellow
(d) an unreasonable person
148. ———-— his dying without an issue his ne
would inherit the whole property
(a) with regard to (b} instead of
(c) on account of  (d) in the event of
149. Befuddled means
(a) To fool someone
(b) To become angry
(c) confused and unable to think clearly
(d) To create trouble
150. One who looks on the dark side of life is called a
e ?
(a) pessimist (b) fatalist
(c) philanthropist (d) accomplice
151. The National Housing Bank is subsidiary of
(2) Reserve Bank of India _
(b) Unit Trust of India
(c) NABARD
{d) Life Insurance Corporation of India
152. The holidays for the Banks are declared as per
(a) Reserve Bank Act
(b) Banking Regulation Act
(c) Negotiable Instruments Act
(d) Security and Exchange Board of India Act
153. The aim of Bharat Nirman Yojna is
(a) constructing a strong border line
(b) making India the hub of manufacturing goods
{c) developing the ethos of nationalism
(d) developing rural infrastructure
154. Swarna Jayanti Gram Swarozgar Yojna came into
being.in
{a) April, 1995 {b) April, 1997
(c) April, 1979 (d) July, 2001
155. Who is the youngest person to receive Bharat Ratan
Award?
(a) Stayajit Ray
(¢) Sachin Tendulkar
156. The first Public Bank wes
(a) SBI {b) PNB
(c) Syndicate Bank {d) Rank of Venice
157. The slogan “Garibi Hatzo” was included in
(a) First Plan (b} Fifth Plan
(c) Fourth Plan {d) Seeond Plan
158 National Stock Exchange of india is certified by
{a) Finance Ministry
{b) OWSESS

phew

(b) Rajeev Gandhi
(d) APJ Abul Kalam
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(€) Companies Act
(d) Ry

.‘! ‘.)I w 7

o Which of the following 1s used for International

Money Transfer?
(a) RIGS (b) NEFRI

2 (c) SWIF (d) None of the above

160, Forelgn Exchange and Forelgn currency In India are
governed by

(a) 1:\('3’“\ Act (b) Banking Regulation Act
(¢) FEMA Act {d) SEBI Act
161, My national University  of Journalism and

communication is located at
(a) Lucknow (b) Bhopal
_ (¢) Chennai (d) Mumbai
162, Who among the following. has scripted history by
boc?mlng the first Indian woman gymnast to win a
medal at the Commonwealth Games after she bagged
a broaze in the vault event -
(a) Krishna Poonla  (b) Soma Biswas
(€) Harwant Kalif  (d) Dipa Kanriakar
163.The National Judicial Appointments Commission Bill,
2014 was cleared by the Lok Sabha recently. How
many members will be there in the NJAC headed by
the Chief Justice of India? L
(a) Three (b) Four
(¢) Five (d) Six
164.Which of the following facts Is not correct with
respect to Indian and ASEAN? ‘

(a) The members of ASEAN group inclide’ brumel,
Cambodia, Indonesia, Myanmar, Singapore,
Thiland, Philippines and Vietanam '

(b) Indla and the ASEAN area set to sign a free Trade
agreement in services and investments

(c) The India-ASEAN Trade In Goods Agreement was
signed In August 2009 and it came into force on
1 Jan 2010

(d) None of these

165.Which of the following ‘countries has launched
construction of a new Suez Canal that aims to spegd
up traffic along the existing waterway and 'boost the
country's-battered economy only ? L .
(a) Egypt (b) Syria
(c) Israel (d) Iran C

" 166.Which of the following is NOT an award given in the
field of sports in India? o
(a) Dronacharya Award (b) Arjuna Award
{c) Divan Chand Award (d) None of these

167.Which of the following state governments celebrated
‘Kanyashree Divas' on 14 August through out the
state with an aim to improve the status and well
being of girl child? :
{a) Ghjarat

PR PUBLICATION

(b) West Bengal

——
(c) Maharashtra  (d) Rajasthan J;

168. Nobel laureate Gabrief Garcia Marquez died recently 1
at 87. He was a noted . i
(a) author (b) economist '
(c) physicist (d) chemist

169.Who among the following won the 2014 Asian awarq
for outstanding achlevement in sports presented n
London recently?
(a) Shikhar Dhawan (b) Rohit Sharma
(c) Yuvraj Singh (d) MS Dhoni

170. Which of the following actually does not contain
silver?
(a) German silver
(c) Horn silver

(b) Lunar caustic
(d) Ruby silver

+ 171, Xenon gas- Is also known as

(a) tear gas (b) laughing gas
(c) stranger gas (d) water gas
172. Which of the following is used as an explosive?
(a) Graphite
(b) Nitroglycerine
(c) Mercuric oxide
(d) Phosphorous tetrachloride
173. Which of the following is are used by the body in the
process of blood coagulation?
(a) Vitamin K (b) Calcium
(¢) Prothrombin  (d) All the above
174. Consider the following with respect to the
constituents of proteins

I- Carbon II- Nitrogen

Ill- Oxygen V- Hydrogen

Which of the above is/are present in proteins?
(a) Only! (b) Only land Ill

(c)Onlyl, Nand IV (d) All, 1, II, Il and IV

175. Match the following revolts and their leaders and
answer the question on the basis of codes provided
below:
1- Kol uprising

A, Tirath Singh
2- Ahom revolt. B. Buddho Bhagat
3-Khasi uprising  C. Sidhu and Kanhu
4- Santhal uprising 0. Gomadhar Konwar
1 2 3 4
(a)b A B ¢
(b)D C B A
(8 D AC
(ddA D C B
176. The term Ghandian Economics was coined by
(a) Mahadev Desali
(b)) C Kumarappa
(c) Hermann Kaltenbach

(d) Acharya Vinoba bhave
177. -—— program Is used to detect overall system

malfunction.
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(a) System software
{c) Utilities
178, Which of the following is tr
(a) It reduces data redundancy
(b) 1t solves data integrity problem

(c) Itincludes data security features
(d) All of the above

179. Which of the followin

right to be forgotten option recently? v
been brought for the people
results about them,
(a) Google
(c) LinkedIn
180. Devaluation means
() To reduce the val
(b) To appreciate th
currency
(c) Ta issue new cu
(d) None of these
181. Government allowed FD|

(b) Application software
(d) System diagnostics
ue for Database

B Internet giants came up with

his option has
who opt for removal of

(b) Facebook
(d) Whatsapp

ue of home currency
e value of home currency in other

rrency in place of old currency

on multi-brand retail and

capped at
(@) 27% (b) 49%
(c) 51% (d) 74%

182. index 'Residex’ is associated with
(a) Share prices
(c) Price Inflation Index
183. Which of these is not an i
agency?
(a) Standard & Poor
(c) Moodys
184. Which committee recom
rebates under section 887
(a) Chelliah Committee (b) Kelkar Committee
(c) Shome Committee ({d) None of these
185. Tarapore Committee submitted its full report on 'Full
convertibility of Rupee on
(a) Current Account (b)Capital Account
(c) Both in current as weli as in Capital Account
(d) Special Drawing Right (SDRs) Account .
186. According to 2011 census, the state having
Maximum population is
(a) Uttar Pradesh  (b) Maharashtra
() TamilNadu  (c)Kerala
187. CENVAT is related to .
(a) Sales Tax (b) Exc1§e Duty
(¢) Custom Duty (d) Service Tax
188. Which of the following does not grant any tax
rebate?
(a) National Saving Certificate
(b) India Vikas Patra
{¢) National Saving Scheme
(d) Public Provident Fund

| & SPR_PUBUCATION

(b) Mutual Fund Prices
(d) Land Prices

nternational credit rating

(b) CRISIL
(d) Goldman Sachs
mended abolition of tax

189, SEBI was astablish
(a) 1993 (b) 1992
() 1988 (d) 1990

190, The working of $¢p includes
(a) To regulate the dealings of share
(b) To check the fou dealings in share market
(€) To control the Inside trading of shares
(d) All of these

191. Which institution I known as 'Soft loan window' of
World Bank?
(a) IFC (b) IDA
(c) IMF (d) Indian Development Forum
192. What is cross border exchange?
(a) Foreign Exchange trade in India
(b) Hawala Trading of Indian rupee
(c) Nlegal transfer of Indian rupee
(d) None of the above
193. Which measure comes under quantitative credit
controls adopted by Central Bank of the Country?

(a) Bank Rate (b) Open Market Operations
(c) Cash Reserve Ratio (d) All of these

194. Which state uses the maximum ar
coffee?

(a) Karnataka (b) Gujarat
(c) Rajasthan (d) Tamil Nadu
195. Diamond mines in India are at
(a) Uttar Pradesh (b) Madhya Pradesh

(c) Bihar (d) Andhra Pradesh
196. IRDA is associated

(a) Railway
(c) Telecommunication

197. R.N, Malhotra Committee
the field of

(a) Sick Industries

(c) Insurance Sector (d) Banking Sector

198. The first public sector bank in India which obtained
license for Internet Banking from RBI is
(a) Punjab National Bank

(b) Oriental Bank of Commerce

(c) Corporation Bank

(d) State Bank of India
199.What is 'Stagflation?

(a) Inflation with growth

(b} Deflation with growth

(c) Inflation after deflations

(d) Inflation with depression

200. Which of the following state shown the fastest

growth in expanding Micro Finance Business in the
country?

(a) Gujarat
(c) Maharashtra

ed in

ea for producing

(b) Insurance Sector
(d) Banking
gave recommendations in

(b) Tax Reforms

(b) Andhra Pradesh
(d) Karnataka
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ANSWER KEY YEAR 2015-2016

1.d 2.c 3e 4.b 5. 6.c 7.b 8.2 XS
10.9 1Lb 12.¢ 13.c 14.b 15.d 16.a 17.b 18.¢
19.a 20.c 112 22.4d 234 24.b 25.b 26.c 370
28.b 29.¢ 30.8 31d 32.b 338 34.d 35.c 6.4
31.d 38.d 39.b 40.d 41.b 42.4 4.c 44.b 452 ]
46.b 47.¢ 48.c 49.a 50.¢ 51.d 52.b 53.a 54
55.b §6.d 57.a 58.d 59.d 60.d 61.c 62.d 6l.c
bd.c 65.b 66.c 67.a 68.b 69.d 70.c 71.b T.c
3.4 74.¢ 75.¢ 76.8 T.c 78.c 79.b 80.a 81.b
82.a 83.d 84. 85. 86.b 87.c 88.c 89.d %.c
9.c 922.b 93.a 94.b 95.h) 96.d 97.a 98.d 99.d
100.c 101.a 102.4 103.c 104.d 105.d 106.d 107.d 108.a
109.¢c 110.a 111.d 112.a 113.b 114.c 115.a 116.c 117.b
118.c 119.a 120.b 121.c 122.c 123.d 124.2 125.b 126d
127.d 128.c 129.c 130.c 131.c 132.c 133.b 134.b 135.
136.b 137.d 138.b 139.b 140.b 141.b 142.b 143.b 144.b
145.b 146.a 147.a 148.d 149.c 150.a 151.a 152.c 153.d
154.c 155.c 156.d 157.b 158.a 159.a 160.d 161.b 162.d
163.d 164.d 165.2 166.d 167.b 168.a 169.d 170.a 171.c
172.b 173.d 174.d 175.c 176.b 177.d 178.d 179.a 180.a
181.c 182.d 183.b 184.b 185.b 186.a 187.b 188.b 189.c
190.d 191.b 192.a 193.d 194.a 195.b 196.b 197.c 198.2
199.d 200.b
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